Like Magic

Part 3

Tracy Turner has decided Like Magic could increase their revenue and profit by also selling their cream in an upscale designer jar at a higher price.  Tracy had the jar designed and the staff developed projected data for the upscale jar.  The proposed selling price was $40 per jar, $5 above the price for the current jar.  Demand was projected at 100,000 jars for the coming year.  Material expenses would be $1 per jar greater than for their regular product.  The other variable expenses would be the same per unit cost as their current product.  Fixed manufacturing overhead expenses would be $600,000.  Fixed marketing expenses for advertising and promotion for the designer jar would cost an additional $300,000.

 Anthony Iococca, VP of Manufacturing, suggested they consider purchasing the jar from an outside manufacturer for the first year.  This would let Like Magic test the results of the new jar before investing funds in production equipment.  If they bought the jar, Like Magic could avoid $200,000 in fixed manufacturing overhead.  Anthony said idle space is available if they decide to manufacture the new jar.  He added that a request had been received from another firm to rent storage facilities from Like Magic for the coming year.  If he jar was purchased from another manufacturer, the space could be rented for $50,000 for the next year.

 Tom Turner has received a request for Like Magic to do some contract manufacturing of a cream similar to theirs.  He asks the staff to evaluate whether the idle space should be used for contract manufacturing if they purchase the designer jar.  You roughly estimate the contract manufacturing would yield a $60,000 contribution to profit for the coming year.

 Tracy asks you to evaluate he profitability of producing and selling the cream in the designer jar.  You set up 4 alternatives.  Variable expenses if they buy the jar would be:

 

       Materials   $6.00 per unit

       Labor         $6.50

       Overhead   $2.00

       Outside purchase Cost      $3.60 per unit

 

Required:
 
1. Display all four alternatives
2. Which one is the most profitable?
3. What are the relevant costs among the 3 alternatives of making or buying the jar?
4. If they decide to make it themselves, what is the opportunity cost?
5. Are there any sunk costs?
6. Give an example of an avoidable cost in these alternatives.
7. How would the profitability change if the estimated sales were 200,000 units instead?
Below is the solved part 2 of the Like Magic incase you need to use it.

Part I

Requirement I
Using the Contribution Margin Approach, demonstrate to Fawn whether this order is profitable or not.

The fixed costs are not relevant since there is excess capacity, therefore, the variable costs and the cost of special equipment should be considered.  

Direct material per unit (including additional labeling and packaging)
$7.00

Direct labor per unit







$7.20

Variable Mfg. overhead per unit





$2.16
Total variable cost






          $16.36

Revenue ($25.00 x 50,000)





    $1,250,000

Variable cost (50,000 x $16.36)




       $818,000

Contribution margin






       $432,000

Fixed cost (equipment for the testing)



       $200,000
Net income







       $232,000

Since net income is positive, the order is profitable.  

Part II

Requirement II

A. Complete a schedule of Cost-plus Markup Percentages to achieve same sales price.  In addition to sales price/unit, show prime cost/unit, variable cost/unit, fixed cost/unit, full cost/unit and operating income/unit.

Prime cost/unit = direct material cost + direct labor cost

$7.00 + $7.20 = $14.20

Total variable cost = prime cost + variable manufacturing overhead

$14.20 + $2.16 = $16.36

Fixed cost per unit depends on the total units being produced.  In this case the fixed cost is $200,000 and the units to be produced are 50,000, therefore the fixed cost/unit is$4.00

(200,000 / 50,000)

Full cost/unit = total variable cost/unit + fixed cost/unit

$16.36 + $4.00 = $20.36

Operating income/unit = selling price/unit – full cost/unit

$25.00 - $20.36 = $4.64

Schedule of cost plus markup percentages

Cost Type

Sales Price

Cost

Markup________________
Prime cost

$25.00


$14.20

76.06% (25.00-14.20)/14.20

Variable cost

$25.00


$16.36

52.81% (25.00-16.36)/16.36

Full cost

$25.00


$20.36

22.79% (25.00-20.36)/20.36


B. Discuss the advantages and disadvantages of taking on the costs and giving the requested assurances related to the hypoallergenic testing.

The advantages are:

1. The customer need not carry out the testing and so can straight away sell the products.  

2. Like Magic can get expertise in hypoallergenic testing.

3. Like Magic will also get the testing equipment for by Wizards and can use the equipment for testing of sales to other customers.

The disadvantages are:

1. If there are reactions to the cream, the responsibility rests with Like Magic

2. There could be claims for damages which could go very high and so Like Magic is exposing itself to serious contingent liability.

C. Discuss the pros and cons for the differing cost plus pricing strategies.  What other issues should be evaluated by Like Magic in determining their price negotiation strategy? 

The different cost plus pricing strategies are absorption manufacturing cost and total cost.  The advantages of this kind of cost plus pricing are listed below

a. In the long run, the firm needs to cover both the fixed costs and the variable costs.

b. The fixed costs pricing provides a price which is justifiable 
and is acceptable to both buyer and seller.

c. Full cost pricing provides information on how the competition may set prices, provided the industry has similar cost structure.

d. No special accounting needs to be set to determine the price, since the existing accounting is geared towards absorption costing.

The disadvantage of total costing pricing is that it does not provide help in decision making.  The costs are not separated by behavior and so there is no understanding of how the costs change with volume.  

The advantage of using variable cost for pricing plus pricing are:

a. It is helpful in decision making since the costs are segregated by behavior.

b. If variable costing is used, there are no allocation problems of fixed costs to different products.

c. Variable costing is very useful in making decisions regarding special orders.

The disadvantages of variable costing is that it sets the floor price for costs and so orders are accepted which do not cover fixed costs and may be detrimental to the long term health of the firm.

The other issues to be evaluated are:

1. Whether this is a one time order or will be repeated.

2. The order is letting Like Magic enter a new geographic area such as Canada.

3. Possibility of using the testing equipment for other buyers so that its cost can be spread over more units.

4. Its own capacity utilization schedule.  While it is beneficial in the short run, on the long run special orders at lower prices may create problems if the capacity becomes fully used. 

